H & 0l & AHS B Ml A

A A4S

F: TADNY

Cel: SADIBIAIEE S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FaFSNME==y, 44,611,692 44,286,687 325,005
= 338,100
[ 2,459,400
Jl 74,825
< 6,120,841
= 35,618,526
AR 6,194,783 4,286,942 1,907,841
[ 1,430,400
= 252,685
= 4,511,698
ESNPIEINE=E= 5 3,142,498 3,188,942 N6, 444
SAHEERE SHEHAY 900,000 1,200,000 A300,000
401 Al HIZ S 0HbI 900,000 1,200,000 A.300,000
01 Al&H| 894,330 1,191,000 A296,670
OZAHEEZ2(AR3-245) ELE DAL
900,000,000 *99.37% 894,330
03 AlESTHYI 5,670 9,000 23,330
OZAHEE2(AR23-245) ELEAY
,000,000&1+0.63% 5,670
SAIAEAIZ 2e] 893,958 939,602 N45,644
101 @124H| 15,056 0 15,056
M ORINZZE2NSES 15,056 0 15,056
ObtSAl+ FUEssdH 29 - 2l 15,056
—JI2= 76,9603 x 12 %132 10,159
—=4| 4,0002x1&»132&! 528
—uwSH| 2,0003*1& 132 264
-5+ 76,9602 1 x185= 1,386
—Ra5dsE 76,9603 x 184 308
—Axtg 82,9602 x1H 6 498
—SEJOHI 300,000& 1 300
—4l2g= 13,441,6002 *12% 1,613
201 er23| 103,862 119,562 A15,700
01 At2teltl 30,550 26,250 4,300
OZA=H=URE =5
150,000 x62& * 102 9,000
OZH&AE3 =&
150,000& 15 *12] 2,250
OEAHEER DIE8X 82
300,000 * 1204 3,600
OZ&c| A8 Yots =SS MEZ NS
750,000 #20H A #22] 3,000
OddE2RE /38 10,000,000& x12] 10,000
OH&=0F SRAE AT M=
60,0002 x25& 1,500




2A:
X XH -
o e

=aak

A8 wS
SADHE
SADIBAIE S E

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=NEF2E 2YSE ¢
120,000& %102 1,200
02 S3=gHl 73,312 93,312 /20,000
OZAHE AE SA22 (=M, =21
2, AEWH S) 5,000,000& 103! 50,000
OZAIHE 22N 23R
50,000 * 1294 & 600
OREFL(ZAHESRFA) 712
—S 2,530 «2001 = 1204 = 608
—get 4302 <2001~ 1204 104
OZAIH=Z2HMA(PIS) RAI2eIA
22,000,000 * 14| 22,000
202 04l 5,040 5,040
01 =LHN LI 5,040 5,040
OZAIHE ARFT(SH)
130,000 x3&* 122 4,680
OAEYH XN L SAITHY 8 L (BN
) 30,0002 1 * 122 360
401 AIEHIZL SO 770,000 815,000 /45,000
01 Al&HI 770,000 815,000 /45,000
OZAHEEZ DI2EX BA(EANEER
2T, S0EER, SENLAY S)
100,000& *1,000m 100,000
OZAIHE AE SAI2e(EE, 21
2, UM 8) 10,000,000 %102 100,000
OZANHEEZ(A22-8, StdN~Z2) QIE
HESAL 180,000,000 * 14! 180,000
OZANHEEZ (5239, dHZCIRREI~A
Fou) £+2 WHSA
200,000,000& *14] 200,000
OXN&EA 0l 2d3tHE +8 89
50,000,000 * 14 50,000
ONENER JI2S EXl SAt
140,000,000 * 14! 140,000
Zo2HE 300,000 300,000
401 AIEHIL 2] 300,000 300,000
01 A&t 300,000 300,000
020009t ot BR2IHE (HEHI) 2B
300,000,000 x 14 300,000
Xoterd2te| A& +8 89 5,000 5,000 0
207 ARl 5,000 5,000
01 = 5,000 5,000
OXlototd 2| HE w8 ES
5,000,000 * 14 5,000
CAIZ2 & SSUIA 1,043,540 1,044,340 A800
201 2= 18,680 19,480 A800




FAN AZUSH
X-I;_(H: EA']HUF
SR: TAID|BIAIL &= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AFR2t2IH| 7,880 12,280 £4,400
OEYS9IRDE I 2SYSE 7Y
3,000,000& %14 3,000
OSE=sAZIE JHIXE SRz
266,600 «1CH* 122 3,200
OB U DROUNASIRE 2
70,0002 x8H +33] 1,680
2 s5=g4l 10,800 7,200 3,600
OZ&xd des
450,000 «241* 123 10,800
202 04| 4,860 4,860
01 201 4,860 4,800
OMesel A2Ez (5)
130,000& 32+ 12& 4,680
OS2lzne % ABHAG S B2 (5)
15,0003 18123 180
401 Al HIZ S 0HbI 1,020,000 1,020,000
01 AlZH| 1,013,700 1,013,700
== S8 XNEANAIN M XA
10,000,000 x24 20,000
OSAMA ZAHEEZ Z2XE EXISA
1,000,000,0002 %99.37% 993,700
03 A2 CHYI 6,300 6,300 0
OSAMA SAIHEEZ B2XH X3
1,000,000,000& *0.63% 6,300
ENT 3,052,285 1,098,000 1,954,285
a 1,430,400
= 252,685
= 1,369,200
SAITHA R2HE 2 52,285 48,000 4,285
= 14,285
Ea 38,000
308 AXIHS0IA 52,285 48,000 4,285
= 14,285
o 38,000
11 S| 2SO0 UeB XA AIE 52,285 48,000 4,285
OZAIMEXZHEH S22CIHO0IH Q12|
2,000,000« 1H« 122 24,000
[ 5,000
T 19,000
O AMNYXHME 2SI
2,357,080 12& 28,285
= 9,285
Ea 19,000
SAITH A 3,000,000 1,050,000 1,950,000




A

2usSit

F: TADNY

2l SAl THAY (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
iy 1,430,400
T 238,400
= 1,331,200
308 AXISHMSOIA 583,000 473,500 109,500
= 235,800
& 39,300
[ 307,900
11 3I| 2S00 CHeHE & X2 E ALY 583,000 473,500 109,500
O=older2dst Y SSHAA AL
393,000,000 14 393,000
= 235,800
& 39,300
= 117,900
OSATHMHSHE X RME 12|
175,600,000 * 14| 175,600
OEANTHHSHEXIJME 238|
1,200,000& * 12& 14,400
403 REXISHHS K201 2,417,000 576,500 1,840,500
= 1,194,600
= 199,100
= 1,023,300
02 0| 2SOCHet A2 & 2 EFAIZ I 2,417,000 576,500 1,840,500
O3 AN A
2,417,000,000:& * 14 2,417,000
= 1,194,600
= 199,100
= 1,023,300
NEHE J|et Y 1,389,000 1,400,000 A11,000
= 389,000
= 1,000,000
NSEE JIEAIE &= 1,389,000 1,400,000 211,000
= 389,000
= 1,000,000
Tt NP HESA RS ZAAY 1,389,000 1,400,000 211,000
iy 389,000
= 1,000,000
401 A& BIZ 201 1,389,000 1,400,000 211,000
= 389,000
= 1,000,000
01 AlEHI 1,384,000 1,3%4,960 210,960
Orlet A HEE4 FESIHA LA
1,389,000,0002 x99.64% 1,384,000
= 389,000
= 995,000




FAN AZUSH
T T8 J|Bxy
el XNGHZ JIENE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Al 20HHI 5,000 5,040 A0
OXoHIH B8 AN A
1,389,000, 000& *0.359%% 5,000
CERALERS 8,274,011 7,001,221 1,272,790
< 1,286,065
T 6,987,946
CRY =HE 4,760,000 3,100,000 1,660,000
= 1,100,000
= 3,660,000
= SHEIAIY 4,360,000 1,700,000 2,660,000
= 1,100,000
Ea 3,260,000
401 AIZHIX S0HH 4,360,000 1,700,000 2,660,000
=S 1,100,000
s 3,260,000
01 AlZ28| 4,341,640 1,691,180 2,650,460
O20~atgHott 2 ST AT AHL=1.2km)
1,200,000,0002 *99. 64% 1,195,680
O30+ Brazt =2 S E(L=0.8km)
400,000,000& *99. 28% 397,120
OTE6SH (H35}) HEINESA
800,000,000 *99.37% 794,960
=S 400,000
s 3%4,960
ORE1SE (L) TZE LI DAL
1,400,000,0002 %99.82% 1,397,480
= 700,000
= 697,480
Ot Y2 AZSA
500,000,000 *99. 28% 496,400
OZENSH(RAHY S3C)BLESA AAl
289 60,000,000 * 14! 60,000
03 A2 CHYI 18,360 8,820 9,540
O20h-AtEHe2F &2 ST EZAH(L=1.2km)
1,200,000,000& *0. 36% 4,320
O30 BrE?2t =2 S E(L=0.8km)
400,000, 000&+0.72% 2,880
O20tS Y2 HTSA
500,000, 000&+0.72% 3,600
OZE6S & (H5h) HEIMNSTA
800,000,000& *0.63% 5,040
OZ&1a6(Le-22) T2 HIA
1,400,000,000& 0. 18% 2,520
SHEZZ SEIAY 400,000 1,400,000 1,000,000
401 A2 HIRL R 0HbI 400,000 1,400,000 1,000,000
01 Al&H| 400,000 1,391,360 991,360




EA: HEnEH
B CeALSEE
el 2% &5 (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
O&AB &2 SREEHDAHEXEAH])
400,000,000& * 1A 400,000
WENHIAMZE 3,514,011 3,901,221 A387,210
= 186,065
o 3,327,946
Sz 2,584,180 1,652,950 931,230
< 150,000
= 2,434,180
201 LEt2AH| 317,872 325,420 N7,548
01 AFR2teltl 124,452 133,920 N9,468
OS2HHI2¥ Moz 7 (E2248)
250,000& *10H x23| 5,000
OZZHIRH XU=T(2FH)
250,000& 3 23| 1,500
OEzdHHI8 &gE7 & =5 2
300,000 %103] 3,000
0248 MRA 2EHI(Z4)], BA S
) 200,000& 128 2,400
OHMAE XS X 23,000,000 & =4CH 92,000
OFZ2RHEE J22d EHIIE HAHH|
50,0008 *x203] 1,000
OFZHEGI Y SEHA €2 = &
2 & E | 500,000 %203 10,000
OEZ Y| ==H|-2EtA
8,000 62 +50! 2,832
Oz 8H| S2H|-E28+3
8,000& * 10 x50 4,720
O2XE E2842 35
2,000,000 *13] 2,000
02 S32ZH| 193,420 191,500 1,920
OHAEAIRA HyE MESIN 22
260,000+ 12& 3,120
OE=Z8HI8 XIHHBEE & AsKHA
500,000& *7CH 3,500
OB HEFE 2BRB(I], 44F)
700,000& x12& 8,400
OEZAIEBES(IIRE &) MRS
200,000+ 12& 2,400
OE2E42 AIRA RFH|
200,000& x5 1,000
ONELE 224 2FYH|
200,000 x5 1,000
OE=JHIE &Hl, s27|17| s ®FHl ¥
=2 =I5l 6,000,000 128 72,000
OAIZ2RM WY ¢ & WA
500,000 *43] 2,000
OEZAIE SX22(HE2, HEAlL, JIZ2
S &dl 5) 5,000,000& *203| 100,000




FAN AZUSH
B CRAMSTE
Selr usSAHIAKNS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 100,308 94,900 5,408
01 MHZH| 100,308 94,900 5,408
O=2dHIg(IS82+) IHHTALHI(ZE0t
AZ, 2 8) 10,000,000& * 14 10,000
OM&XxdE MEH s 78
422,000& 214= 90,308
401 AIEHIZ R 0HYI 1,930,000 1,200,000 730,000
< 150,000
2 1,780,000
01 Al&tt] 1,930,000 1,1%,8% 734,104
OZ2th2AlE Fi)
30,000,000 #5002 150,000
Odtsite(2E2154) Bi=AlE JHESAt
500,000,000 *14] 500,000
O3AIDtS(RIC2065 ) 25 FHISAL
70,000,000& *14] 70,000
Ogzisd 2= & 3|duUIZ HEISA
400,000,000 * 14 400,000
OAISE ANd= FA24H]
40,000,000& *14] 40,000
OUOFAEl 2 WXIZ MESA
300,000,000 * 191 2 300,000
& 150,000
= 150,000
Odlgtz 2t MUE=2 Aleld JHE S A
470,000,000 x 14 470,000
405 AtatE=H 236,000 32,630 203,370
01 TR =S FISHI 236,000 32,630 203,370
OEZFHIE =410 7Y
170,000,000 »1CH 170,000
OC2FHIE & U358 EH)
66,000,000 1CH 66,000
WSEZA 8,271 8,271 0
= 6,065
o 2,206
101 21AH| 8,271 8,271 0
== 6,065
o 2,206
M ORNZZ2NSE S 8,271 8,271 0
ONgE - 2& NSEXZA
91,9002 x2& *3 1l T = 15 2 8,271
= 6,065
= 2,206
2 HEFE 600,000 1,000,000 400,000
401 AlZHIZ 2018 600,000 1,000,000 A\400,000
01 A28l 600,000 1,000,000 A400,000




A AdnsSht
B CRAMSTE
Selr usSAHIAKNS EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OZZ OtAE IMKI|ZA
100,000,000 *6IH &~ 600,000
WU RICH 100,000 160,000 260,000
& 30,000
i 70,000
401 Al&HIZ 20| 100,000 160,000 260,000
= 30,000
= 70,000
01 Al&HI 100,000 160,000 A60,000
OuEHUMEH(5IM4)
20,000,000 *5IH 2~ 100,000
& 30,000
= 70,000
S2uSAld2e] 221,560 280,000 258,440
202 o4t 1,560 0 1,560
01 =LHO4 b 1,560 0 1,560
Oz e ARF(5Y)
130,000& x1F + 122 1,560
401 Al HIZL S 0HY| 220,000 280,000 260,000
01 Al&HI 220,000 280,000 260,000
OE2EXE FH| 4,000,000 x5JH 2~ 20,000
OZZ HEAIE AXI(OtsaY, SAgX|,
SAESALE S) 50,000,000 404 & 200,000
FHUX on 6,761,242 6,621,000 140,242
NEIEEBIT, 6,761,242 6,621,000 140,242
SE K HZAIS 6,761,242 6,621,000 140,242
401 Al&HI LS OHE] 6,761,242 6,621,000 140,242
01 A&t 6,689,000 6,571,000 118,000
OS7 H& OJARLETAl
20,000,000 14! 20,000
O4F B0IS HETA
30,000,000& *14! 30,000
OFH &= A=A 25,000,000 3 14! 25,000
Olgt Dt OLAZEES
40,000,000 14 40,000
OR7 Ha QUEITA
40,000,000 14! 40,000
QE2 A0 HEZHIS A
30,000,000 14! 30,000
OO =HOIB EHBAF
10,000,000 & * 14! 10,000
OOk AlS MEFBIZA
20,000,000& * 14! 20,000
OFd SJIUZ ZHISA
30,000,000 14 30,000
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SA AEDED
K ZH - o J
o e

30!
ool M 2 Y

RA - BH SRS - LAY - BAS ofl &t A

O=% U2 OI~ZZEZA

40,000,000 *14] 40,000
OZISH MOIS OtAZEZZA

20,000,000& * 14! 20,000
OH DE QUTHTA

50,000,000& *14] 50,000
O etz A=3AM

30,000,000 x14! 30,000
Otlet == A=A 20,000,000 *14! 20,000
Octd 018 E SZ2EEHSA

15,000,000& * 14! 15,000
OO LB HETAl

25,000,000 & = 14! 25,000
Ol OITHa A=ZAt

20,000,000 x14! 20,000
O&let A3 =XHEHHIS A

20,000,000& * 14! 20,000
OR7 2= NEEHISA

30,000,000 x 14! 30,000
Odd s AFSA 40,000,000 *14] 40,000
Od== Al2= NEEHISA

30,000,000& * 14! 30,000
OZIeH 2IAM2E Ot L2E AXI S AL

20,000,000& *14] 20,000
O &3 JtEdig EX3At

20,000,000 x14! 20,000
Ootd il JtEeleY EXISAt

20,000,000& *14] 20,000
Oad =3 It EXISAt

20,000,000& *14] 20,000
Osg = JtEdig EX3At

20,000,000 x14! 20,000
OFA &= JtEd dXISAt

20,000,000 *14] 20,000
Ose L& IS EXBA

20,000,000& *14] 20,000
Od= 2= JtEdle EXI3At

20,000,000 x14! 20,000
O0tg EXl JtEeg dxISAt

20,000,000& *14] 20,000
O&d =& It ExI3At

20,000,000& *14] 20,000
OFd =2 JtEdlg EXI3At

20,000,000 x14! 20,000
Ot 58 SHBAM 20,000,000& * 14! 20,000
Oetd AtE= SEH3AM

20,000,000& * 14! 20,000
Oetd ob)| SHBA 20,000,000 x14! 20,000




A HEWSY
Q J

= 5o
oels XS —oE O
S A - BRI - HRA - BES of e A

Ootd ZLIRE SHZAl

30,000,000& »14] 30,000
Oetd =8 A=A 20,000,000 *14] 20,000
Odd X HA=3M 20,000,000 *14! 20,000
o2 HiLIB A&ZA

20,000,000& * 14| 20,000
Ootd gHIS MEZEISA

20,000,000& x 14 20,000
OSE &s AFSA 20,000,000 * 14! 20,000
OS7 +£2 ZHBM

10,000,000 * 14! 10,000
OFH 28 MEZUISA

40,000,000 *14] 40,000
Ol = SZEFSA

20,000,000 *14! 20,000
O2et RAlE S2ETSA

10,000,000 * 14| 10,000
O2Y 35 AT nEXSA

50,000,000& »14] 50,000
O&% HH SREEZA

20,000,000 *14! 20,000
ontd Use =XUHEEE3A

200,000,000& *14] 200,000
Oetd 28t HZEBISA

20,000,000& »14] 20,000
Ol Us 453A 30,000,000 *14] 30,000
OFF 28 MEZUISA

25,000,000 * 14! 25,000
OAet L SZEHSA

20,000,000& » 14 20,000
O3 SN A4=53A

25,000,000 * 14 25,000
ORF Ji0td = MEEHISAH

40,000,000& *14] 40,000
O&% Z012 FAZEHIZA

20,000,000& » 14 20,000
Odot 18 HFZ A 20,000,000 * 14 20,000
Odlgt &5 SZ2EHIA

15,000,000 * 14! 15,000
Odd S8t 4FSA 50,000,000 * 14! 50,000
OBE 22N =T

30,000,000& * 14 30,000
OZlgt HE SR SAH

10,000,000& * 14! 10,000
OOHE OIAIR SREFTA

5,000,000 * 14 5,000

Ottd SA=E sZHEIYSA

12,000,000& * 14 12,000
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20,000,000& *14! 20,000
OHtel 8% S2EHTA
20,000,000& *14! 20,000
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20,000,000 * 14! 20,000
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20,000,000& *14! 20,000
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20,000,000& *14! 20,000
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20,000,000 * 14! 20,000
OAgel MeB 52 FHIBA
20,000,000& *14! 20,000
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20,000,000& *14! 20,000
OXHt2l Gt AZBA
20,000,000 * 14! 20,000
Os3el U2 422 DHBA
20,000,000& * 14! 20,000
O2Fel 25 ME JHIZA
20,000,000& *14! 20,000
Os3el £5 42 FUITAl
20,000,000& * 14! 20,000
SE2| 3™ HAETA
20,000,000& *14! 20,000
OZHE 4518 B4BAF
12,000,000& %14 12,000
Ostdel M2 AETHIZA
7,000,000 14! 7,000
OST B2 FHIBA
20,000,000& *14! 20,000
O84 S2EEIA 10,000,000& % 14! 10,000
OARB AN (RHS) AL S
22,000,000 * 14! 22,000
OATRD HAMNH(S2H) MALHE
22,000,000& *14! 22,000
OARS HAANY(L2A) MAEH S
22,000,000& *14! 22,000
O s2ILZA 30,000,00024 14} 30,000
OFE 52 243 50,000,000 *14! 50,000
OZal A=ZA 10,000,000& * 14! 10,000
OT7E ZEIA 10,000,000& *14! 10,000
OUSAF AR FHIZ AL
20,000,00024 14} 20,000
Otts ZHISA 20,000,000& * 14! 20,000
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A
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A A4S
B F|orn) g
el XNE o i EEREE
SA - BE - C9(3H) - KA - BES Ol &t e B2
O=2 HHEHIZA 10,000,000& *14! 10,000
O/I2F OIAZEM T S At
10,000,000& * 14! 10,000
OO0tE &H EXI3At 10,000,000& * 14! 10,000
O=2&0t= ZHISA 10,000,000& %14 10,000
Oaxd sZEESA
10,000,000& * 14! 10,000
Ogitsits Ex=3At
10,000,000& * 14! 10,000
O=3gel AFHEHISAL
10,000,000& %14 10,000
OMZE T HXITAl
10,000,000& * 14! 10,000
OFBe| 5% SXIBA
10,000,000& * 14! 10,000
O21ucl sZ &XI3At
10,000,000 * 14! 10,000
OatiaZ A= AxISA
10,000,000 * 14! 10,000
O4F FB HASTA 10,000,00024+14! 10,000
O&J0tE OLAZEE S AL
10,000,000& *14! 10,000
OgZel sZ2ZZIA
15,000,000 * 14! 15,000
OgZel &2 EXISA
20,000,000& * 14! 20,000
OJte AFLXSAt 20,000,000& *14! 20,000
Ol eHIZZZAL 15,000,000& % 14! 15,000
O e FHISA 5,000,000 14! 5,000
O =Z2LEEIA 20,000,000& * 14! 20,000
OFBOIE AUTHBA
10,000,000& *14! 10,000
O8%E s2LEEIA 5,000,000 14! 5,000
O8xcl & « Ax3TA
20,000,000 * 14! 20,000
0223 OtAZZEZAL
10,000,000& * 14! 10,000
O&ite S8 3At 14,000,000& % 14! 14,000
O A= ZXSM 10,000,000& % 14! 10,000
Odlge] s2 2 =2 3At
10,000,000& * 14! 10,000
OdlYd =2 AXI3BAt 10,000,000& * 14! 10,000
OUgl A= LIS A 10,000,000& %14 10,000
Ootd A= XIS M 15,000,000& % 14! 15,000
Oaltial A=ZAt 10,000,000 14! 10,000
Osklts A=At 10,000,000& * 14! 10,000




A A4S
mE: F|oHn) et
el XNE o i EEREE
. = SIE]
S B SR(BA) - NIRAY - BES ol ke e HimES]
Ok =Z2EEIA 10,000,000& *14! 10,000
O8Hel A=F3M 20,000,000& * 14! 20,000
O=xscl sSZ2EZTSA
10,000,000& * 14! 10,000
O=dgcl =0 EEI3A
10,000,000& % 14! 10,000
OAMsel 52 ZZ3A
10,000,000& * 14! 10,000
Oa=0ts A= &XISAt
10,000,000& * 14! 10,000
O=24Y sZ2ZZFZA 10,000,000& %14 10,000
O=& U= sZ2EESA
11,000,000 & * 14! 11,000
Oglst sS2ZZSA 5,000,000 14! 5,000
O+l A=ZEISAt 20,000,000& *14! 20,000
O88 A=HHISA 20,000,000& *14! 20,000
OAE A=LXISA 20,000,000 * 14! 20,000
Ofl= &otd HHISAt
11,000,000& * 14! 11,000
O =80t F=HEHISA
20,000,000& *14! 20,000
ONE 4% L Hha2TM
10,000,000 * 14! 10,000
O30t HE SZEEHSA
16,000,000& * 14! 16,000
OFF otHAs ZEZSA
16,000,000& * 14! 16,000
O8F =sZ2EEIA 10,000,000& % 14! 10,000
OAEFE ZHIA 10,000,000& * 14! 10,000
Otls s2ZZSA 15,000,000& * 14! 15,000
OXLzs SE2RESA
10,000,000& *14! 10,000
Ot Jt=dlg ZXISAt
10,000,000 * 14! 10,000
O8H HEZA} 20,000,000& * 14! 20,000
ONME HA=3A 20,000,000& *14! 20,000
Od%E A=IAM 20,000,000& *14! 20,000
OO0F= HIE ZHIZA 10,000,000& % 14! 10,000
2= AFEZA 15,000,000& * 14! 15,000
OiLIRAH2l A=ZAt
10,000,000& * 14! 10,000
OEIH ot A=ZAt
10,000,000 * 14! 10,000
O A=XIAM 20,000,000 * 14! 20,000
O=dtel Sel0tS OtAZEEH S A
20,000,000& * 14! 20,000




FAN AZUSH
B F|orn) g
Rl NS —2E N (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdLHd SA=ESA 20,000,000& * 14| 20,000
Ogols SHaA 20,000,000 *14] 20,000
OAEH SHIAM 20,000,000 *14! 20,000
Odtsz A=A 15,000,000& * 14 15,000
Oli2s s2EHIA
20,000,000& * 14| 20,000
OFbe| sZRYESA
15,000,000 x 14 15,000
Oobtd Melsd ZESA
20,000,000 * 14! 20,000
Olis s2 ZEEAM 10,000,000 * 14| 10,000
OZdcl AFSA 20,000,000& » 14 20,000
OXEDtE A=A 20,000,000 * 14 20,000
OtE S2 ZH3AM 15,000,000 * 14! 15,000
O&871 4=3At 10,000,000& * 14! 10,000
Ougs 22 OIAZEEIA
20,000,000& » 14 20,000
OFEcl sZRYSA
5,000,000 * 14 5,000
OA=0t= AMHEHISA
15,000,000 *14{ 15,000
OH= AIHSA 20,000,000& » 14 20,000
OELZ JIEdLEXISA
10,000,000 * 14 10,000
OLZE OtAE ZESA
17,000,000 * 14! 17,000
03 Al 20HHI 72,242 50,000 22,242
SEXNGMNLAY AIL204Y]
6,689,000,000& *1.08% 72,242
sPILHYS 10,252,719 12,135,121 1,882,402
[ 2,522,000
Ea 7,730,719
SYMADIEHEH 7,522,719 9,224,621 A1,701,902
== 2,522,000
= 5,000,719
GSIIBAIER=E 3,068,078 3,906,3%4 /838,316
202 04l 300 300 0
01 =LHAHI 300 300 0
OXNY 2ER(5)
25,0008 x 1 x 122 300
401 AlZHIZ SO 3,067,778 3,906,004 A\838,316
01 A28l 3,035,000 3,865,000 830,000
O&lgt &= =2 HH|SAt
20,000,000 * 14! 20,000
OHZE U= =2 SAt
20,000,000& » 14 20,000
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A AdnsSht
Hu: SAAMAAS
Rl ST BHE EEREE
. = SIE]
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OQHE BHA! =2 ZAt 20,000,000 * 14! 20,000
O0HE U= =23 At
20,000,000& * 14! 20,000
OO0 &= =23 A
10,000,000 & 1A 10,000
OF=Y ti==IiE AL
200,000,000& 14 200,000
OCetd XIAL Hi==2 S At
10,000,000 & * 14! 10,000
Ot = =23 At
10,000,000 14! 10,000
OFA T8 =2 At
10,000,000 14! 10,000
O0rd 2= =23 At
15,000,000& * 14! 15,000
OFHE &S 2L SZSAt
20,000,000 * 14! 20,000
OU2 = =2 LASIA}
20,000,000 14! 20,000
ONF =B H+22M
22,000,000& *14! 22,000
OEY 23 =2 At
15,000,000 & * 14 15,000
QW= CHEHAIS =23 At
20,000,000 14! 20,000
OF# 7 W2
20,000,000& * 14! 20,000
Ods S22 =23 A
20,000,000 * 14! 20,000
Od= 22 =23 At
10,000,000 14! 10,000
O¥& 23 =23 At
10,000,000& * 14! 10,000
Ootd 2HZ =23 At
10,000,000 & * 14! 10,000
Os¢g ot =2 S Al
10,000,000 14! 10,000
O ZEE =23 At
10,000,000 14 10,000
O&IoH AN HH=2 3 At
20,000,000 14! 20,000
OWM2 Y =23 At
20,000,000 14! 20,000
Olsis ExZIHLAZ
10,000,000 14 10,000
O0tZ& MHI&H =2 3 At
10,000,000 & * 14! 10,000
ORIt ZE HWAHASA 70,000,000 14! 70,000




A A4S
Hu: SAAMAAS
Rl ST BHE EEREE
. = SIE]
S B SR(BA) - NIRAY - BES ol ke e HimES]
O8Y &2 ti==&UISAt
25,000,000 * 14! 25,000
OE2 =2 3At 10,000,000& * 14! 10,000
O&3c2l HH SA 20,000,000& *14! 20,000
QU3 =23 At 20,000,000& *14! 20,000
Os3 =253 dEXI3A
30,000,000 * 14! 30,000
Oste A THE XIS A
25,000,000& *14! 25,000
OXrete| tiz==2 3 At 20,000,000& *14! 20,000
OXtetel BH==Z & XIS At
30,000,000 * 14! 30,000
Osg At =2 ZAt
15,000,000& * 14! 15,000
Osg =3 th=23At
25,000,000& *14! 25,000
QY2 20 =3 At 30,000,000& %14 30,000
O&= M i3 At
20,000,000& * 14! 20,000
O Sel =23 At 20,000,000& *14! 20,000
OXt=Eel b= & =24 XSA
25,000,0003 *14! 25,000
Oztetel === EXISAH
30,000,000 * 14! 30,000
O2l3el =2 &XISAt
40,000,000 * 14! 40,000
O=Sel =2 MHEXISA
40,000,000& *14! 40,000
Od &&2| =2 MEXISA
40,000,000 14 40,000
O&Sel =2 &X ¥ +=24XISA
40,000,000 14! 40,000
O=2el =2 HEXISA
40,000,000& 14! 40,000
OJt==0t2 =23 At
25,000,000 * 14! 25,000
OY &Ll =23 At 25,000,000& * 14! 25,000
O=249 =2 L MEH3A
35,000,000& %14 35,000
OQts eigte| ==& H|SAt
10,000,000 * 14! 10,000
OXtMZE == HHISAt
20,000,000& * 14! 20,000
O24t012 =2 HH|ISAt
15,000,000& % 14! 15,000
OXet 842 FHISAM
20,000,000& * 14! 20,000
OEH 7H EZ3At 15,000,000& * 14! 15,000




A ALDSH
HI: SHHMAUSL
CHRl: S AD|BHYY EERE
% = A}
SA-3Y - SRA(SAH) - MRAY - BES Ofl et 05”55 w2
OUS tH+2 FUIZAH
15,000,00084 % 14! 15,000
OZ2let th+2 FHIBA
15,000,00024 14! 15,000
O== 242FHIBA
20,000,00084 %14} 20,000
Qs 2422 4TA
10,000,00094 % 14! 10,000
O2&e| Ot o2 HHIBA
15,000,00024 14! 15,000
o222l 2MX FXHE ZHBA
20,000,00084 %14} 20,000
OAARl sXI 42 SRIZA
15,000,00084 % 14! 15,000
Osge| 2O SHi+2 EXISA
20,000,000 % 14! 20,000
Ostee| 22 42 XIS
20,000,00084 %14} 20,000
ORtat2] Bt ZE L 22 A
20,000,000 %14} 20,000
OFHB sHI+2 HHIZA
25,000,000 % 14! 25,000
O HA THERIBA
60,000,000 * 14} 60,000
OJtet B2 FHIBAF
20,000,000 %14} 20,000
OTE A FHHIZA 20,000,000 %14} 20,000
O2It2 i+FHIZAH
10,000,0002 14! 10,000
OY= 5|2 FHHISA 10,000,000 14! 10,000
OXIAIDIS Hi42 HHIBAF
20,000,000 %14} 20,000
OHHB &4 BAH 20,000,00084 %14} 20,000
ORE & +2DHSBA
15,000,00024 % 14! 15,000
OFZ OHRIFHIZA 10,000,00084 % 14! 10,000
OAFH s2243BA
10,000,00024 % 14! 10,000
OZSH2 43 At 15,000,0002 14! 15,000
OAtHIDIS ot B4 At
30,000,000 * 14} 30,000
OTADIS ALEHZA
10,000,00094 % 14! 10,000
OFSZ 2 BA 30,000,00084 %14} 30,000
OXI2 i+2FHIBA
20,000,000 * 14} 20,000
O/l ti2 2 A} 15,000,000 * 14! 15,000
O}l QHAE 4B At 15,000,00094% 14! 15,000




A A4S
Hu: SAAMAAS
el e8|l (Ete &
. = SIE]
SA - BE - G9I(3H) - NIRAY - BAS Ol v e HlRE2
ORHMZ =2 EZESA
20,000,000& 14! 20,000
ORE 2RLIA 20,000,000& * 14! 20,000
OY&l =2 FHIZAl
15,000,000& * 14! 15,000
OH2 = =2 FHISAM
13,000,000 14! 13,000
OHBY 42 U HETM
10,000,000 & * 14! 10,000
Odtx =2 L JtEY EXISAt
10,000,000& *14! 10,000
OZF =2 &XISAt
10,000,000 * 14! 10,000
O&ts =2 ZXISAt
10,000,000& * 14! 10,000
OR6s =2 EXISA
20,000,000& *14! 20,000
OHE =2 L ZEHIA
15,000,000 14! 15,000
OgA Bi==25F& ZEXISAt
5,000,000& 14 5,000
O HIDHEHAEXISA
5,000,000& 14! 5,000
O2sl =23 AXSA
15,000,000 14! 15,000
O =2 L ZHIA
10,000,000& * 14! 10,000
O=&cl =23 At 10,000,000& *14! 10,000
O=2= =2 ZHISA
12,000,000 & * 14! 12,000
OME A EXISAH 15,000,000 & 14! 15,000
OLng=s 2 & =23 At
20,000,000 14 20,000
Odthial s 2Z S A 20,000,000 * 14! 20,000
OFell0t2 =2 S At
10,000,000 14! 10,000
OEsE =2 ZAt 5,000,000 14! 5,000
OHZHYO| =22t ZAt
20,000,000& *14! 20,000
O21lel =22ZAt 8,000,000& 14! 8,000
Odle| =22 At 7,000,000 14! 7,000
O&&el =2&ZAt 10,000,000& * 14! 10,000
OA= =223 A 5,000,000& 14! 5,000
OAIZZ ti==ZHISAt
19,000,000 & * 1A 19,000
OAAel =23 At 17,000,000 14! 17,000
OXEZ =2 At 12,000,000& * 14! 12,000




FAN AZUSH
B =oiAmeiYs)
el e8|l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJF=Z =23 At 15,000,000 * 14| 15,000
O=ZZ =23 At 20,000,000 x 14 20,000
OTEZ =2 At 17,000,000 * 14 17,000
Osdl =2 HISA
19,000,000 * 14! 19,000
Ogbteiviz =S At
19,000,000 * 14 19,000
03 AIZSTHYI 32,778 41,094 A8,316
OSsIIEAIER=AE AIZ R0
3,085,000,000& x1.08% 32,778
FelAE= 72l 794,641 724,662 69,979
101 e124d| 105,072 94,409 10,663
M ORNZZ2NSE S 105,072 94,409 10,663
OXM==Al E=2 22
31,04021%112,834m' x0.01m x32] 105,072
201 Ler=23| 15,316 16,410 1,004
01 At2teltl 15,316 16,410 A1,094
O=sg82d =ZFA
109,400 * 14004 2 15,316
401 AIEHIZL SR 0HYI 674,253 613,843 60,410
01 Al 670,000 610,000 60,000
O+2INEE |1z
70,000,000& *14] 70,000
O=gE 28 23
10,000, 000& *307H £ 300,000
OM==Xl HeJ| 23 At
7,000,000 *100H 2~ 70,000
OM==Xl E&SA 30,000,000 *6IH 2 180,000
OM==Xl 2=ZAt 25,000,000 204 2~ 50,000
03 A2 THYI 4,253 3,843 410
FclAlEdE A2
675,000,000& *0.63% 4,253
sE XYGHLAS (ZH]) 500,000 700,000 200,000
== 500,000
401 Al HIZ 2018 500,000 700,000 A.200,000
= 500,000
01 Al&HI 500,000 700,000 A.200,000
Ozlotg 2302 =23 At
20,000,000& * 14| 20,000
= 20,000
Orletg S=32l =2 3At
20,000,000 *14{ 20,000
& 20,000
Olots A 012 HHIZBA
20,000,000 * 14! 20,000




2N AL8EN
HH: solAMAAs N
SR =HAMAD|EHEH| (cte: &2
@EE TEDI-
BB S(BH) - HRA - BAS Ofl AboH e HD=2
= 20,000
RoHg Jbelel AIEHIZ A
v 20,000,000 x 14! 20,000
= 20,000
012 2202 As8H|ZAH
e h 20,000,0002 14} 20,000
= 20,000
O 25012 S2FHIZAM
oo 20,000,000 x 14! 20,000
o 20,000
AR R01et HAEHIZA
© 20,000,000 14! 20,000
= 20,000
H4 4F BUZHIZA
© 20,000,000 14! 20,000
o 20,000
AL AS B2 EHIZ2AE
© 20,000,000 14l 20,000
= 20,000
Mo AFA HIA2 BHIZA
v } 20,000,000 14l 20,000
°c 20,000
Ha NY s2EEDA
0% 20,000,000 14l 20,000
c 20,000
OI™ BH3ZlE| HiE=2 AH|Z A}
oeE Ree 20,000, 00021% 14! 20,000
= 20,000
27 ANS0IE 2 FHIBA
o ! F 20,000,000& * 14! 20,000
= 20,000
23 A0S =2 ZHIZ2At
oA + 20,000,000& * 14! 20,000
°c 20,000
A4 EX =0 L =2 HUIZBAF
0% = 20,000,000 x 1A 20,000
= 20,000
HA e JIEYY AXIZ2At
© ‘ 20,000,000 x 14! 20,000
= 20,000
=& 2| Hil== EH|ISAF
© 20,000,000 x 14! 20,000
= 20,000
=& E =2 ZH|Z2A}
. g H 20,000,000 x 14! 20,000
o= 20,000




FAN AZUSH
B =oiAmeiYs)
el e8|l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=d Sdits s2EE3A
20,000,000& » 14 20,000
= 20,000
Odlgks 128 otz FHISA
50,000, 000& » 14 50,000
= 50,000
Ome szl B ¥ +22A
20,000,000& * 14| 20,000
= 20,000
Orlots thefe| a2 Y ZEHIAL
30,000,000 * 14 30,000
= 30,000
Ottd tH=0t2S =2 ZXISA
20,000,000 *14{ 20,000
& 20,000
SIIBHEHI (el AIEMNE =) (M EALY) 1,200,000 1,000,000 200,000
< 960,000
[Ea 240,000
401 Al HIZL 201 1,200,000 1,000,000 200,000
& 960,000
= 240,000
01 Al&H| 1,177,320 980,535 196,785
O==elANEHE2= (M8
1,200,000,000& +98. 11% 1,177,320
= 960,000
Ea 217,320
02 Zeltl 18,360 14,110 4,250
el AIEHE=(HE)
1,200,000,000& x1.53% 18,360
03 Al 20HHI 4,320 5,35 1,035
el AENE (A &)
1,200,000,000& *0. 36% 4,320
SYE 2 700,000 770,000 70,000
401 AlZHIZ S 0HHI 700,000 770,000 70,000
01 AlZH| 694,960 763,070 68,110
O=gE 2AZNLBAHI0MHZL)
70,000,000 *10JH 299 28% 694,960
03 Al 20HHI 5,040 6,930 21,890
O=S 2AFMNLSAHI0HA)
70,000,000& * 1001 20 72% 5,040
Stoll CHEH AL 30,000 90,000 260,000
= 15,000
Ea 15,000
401 AlZHIZ 01| 30,000 90,000 60,000
=S 15,000




2A:

1

O O ¥
9 12 Nx
0z oY EJ
02 O
Jn
S

3 3t
Sa Jl=2t (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 15,000
01 AlZ2H| 30,000 90,000 260,000
OISHAXIY AR B4 HLAS
30,000,000& 30,000
== 15,000
[Ea 15,000
SAIIBHEHI (LD EHEH]) (M EALY) 430,000 200,000 230,000
= 327,000
= 103,000
401 AlEHIZ 201 430,000 200,000 230,000
= 327,000
Ea 103,000
01 AlZH| 427,624 198,560 229,064
020232 =8& M==XI HoHMl ZALS
100,000, 0003 * 14! 100,000
== 30,000
o 70,000
O IIBHEHIAS (X 8H)
330,000,000 *99.28% 327,624
= 297,000
o 30,624
03 AIE R 0HHI 2,376 1,440 936
O [BHEHIAG (M &)
330,000,000 *0.72% 2,376
SAIIBHAEHI (=0 LA STHEHO 1B X ) (M EHAL) 800,000 200,000 600,000
< 720,000
s 80,000
401 Al HIZL 01| 800,000 200,000 600,000
= 720,000
= 80,000
01 Al&H| 794,240 198,560 595,680
O QIR TYHH I 2HT AR (B &)
800,000,000 *99. 28% 794,240
=S 720,000
s 74,240
03 Al 20HHI 5,760 1,440 4,320
O=o ST IS X R AL (B &)
800,000,000&+0.72% 5,760
SENEIE 2,730,000 2,910,500 A180,500
SEXGIHLAL (XEH) 2,730,000 2,130,000 600,000
401 AIZHIZ SO 2,730,000 2,130,000 600,000
01 AlZH| 2,730,000 2,130,000 600,000
OsEiHEAI
1,000,000,000& * 141 1,000,000




FAN AZUSH
B =oiAmeiYs)
ol sEdEed gyl EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O272 KGN DINSEXN 2=
500,000,000 » 14 500,000
OF7 =g &H EXISA
150,000,000 * 14! 150,000
OFH 2l ME HBISAH
150,000,000& * 14! 150,000
O2 HR0tS we HHISA
60,000,000 »14] 60,000
SEI0IS OtAZE HZEIAL
70,000,000 * 14! 70,000
O LI2HE AF3A
150,000,000 * 14| 150,000
Oitd SEcl == ZHISA
170,000,000 *14] 170,000
Oitd 2s0te S+ JUISA
150,000,000 * 14! 150,000
Oontd g&el ti==8Hl At
100,000,000 * 14! 100,000
Ozl s2 HESA
120,000,000 *14] 120,000
OZd=S1At =XHE EXISA
80,000,000& *14! 80,000
Osizsu HIEHISA
30,000,000& * 14| 30,000
S NSHE = 11,487,931 12,594,979 A1,107,048
= 338,100
= 640,000
Jl 74,825
= 2,060,091
Ea 8,374,915
wSeFHEASN 11,487,931 12,466,979 A979,048
= 338,100
= 640,000
Il 74,825
= 2,060,091
Ea 8,374,915
FUNSH =2 214,910 235,738 N20,828
= 4,392
o 210,518
201 fet=3| 163,264 135,532 271,732
01 AtR2t2|HI 72,708 54,808 17,900
OnETR 2B HALY
70,0008 7 H =23 980
OUZSIE YLFX S|
8,000 x3&+6L 12 1,728
OSUNELERE| HIUAE+E
1,650,000 *200H 2= 33,000




FA AELS
Hu: MADEHHEX
el WSEEEYsd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLSEAN % WSMD Y S22 M=
3,000,000& 105 30,000
OXNSASE2eE A4 ME
4003 *75+1,5000H 4,200
OXTAIHA X2 700,000 ~4CH 2,800
2 S5=24g4l 90,55 78,724 11,832
O=E7(MHSAt2H) 7,656
—ggt 3802 %1,000&*12& 4,560
—S 2,5802 1000 * 122 3,096
OAEE HIIABE XS (A0, MSS,
S ISPUES)) 5,500,000& «12& 66,000
OLISHOD MHSAIAE HEH AIZE
1,200,000& «12& 14,400
OusStlss E A=A &EJ|£H| otA
23 2,500,000& %12 2,500
202 04| 6,960 8,520 1,560
01 =LHOLI 6,960 8,520 21,560
ONEHT ALEZ(ZNH)
130,000& x4« 123 6.240
ONSIUUHE 4= & EFSH(SY)
20,0002 %3312 720
301 EtE2 NS 14,686 14,686 0
=S 4,392
s 10,294
14 0Bt 2as 14,686 14,686 0
O8AIRa ItE =2 K&
25,0003 =400~ 12 12,000
< 3,600
T 8,400
OEHARS S8l =42 X (2H FIt 463
) 2,686,0002 %14 2,686
= 792
o 1,8%4
308 AFAIEHMSOIE 30,000 30,000
07 XA EE2 30,000 30,000
O s0E & DEHA AXEAMN EF
20,000,000 *14{ 20,000
OTRE sHE L DEHA JAHUM EY
10,000,000 » 14 10,000
WSOt A Z 2| 1,002,393 642,852 369,541
=S 50,200
s 952,193
101 ©1AH| 60,193 51,822 8,371
04 JIZtN2Z2 XS E+ 60,193 51,822 8,371
OHAZI0Is2E sZ2AcIQ3A 60,193




A AdnsSht
Hu: NNDSHYEX
el WSEEEYsd (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
=] 82,390& x2H x2252 37,076
—wSH| 2,000 x2H 2252 900
—=4ldl 4,000 x2F 2252 1,800
—F=gH 82,3903 x2H x45%= 7,416
e LR
82,3903 x2H+x 9 1,484
— XY 88,390&x2H 10 1,768
—HEFOHI 300,000& x2H 600
—=Z0I 6,000 x2H 2252 2,700
—40EE= 53,741,420 3 *12% 6,449
201 Ler2| 63,000 63,000
01 Ar2eltl 3,000 3,000
OHASZE eFael 257
3,000,000 14 3,000
® 2=2H| 60,000 60,000 0
OREVTALS EXLLH(2IY L 23
Abgh 2hAT]) 60,000,000 14! 60,000
401 AIEHIZL 201 879,200 528,030 351,170
& 50,200
= 829,000
01 Al&Hl 879,200 528,030 351,170
OuSHMEXIE & X2l (SHIHH )
30,000,000& * 14! 30,000
OuWEANSI| M L SXE22(SHIHY)
100,000, 0002141 100,000
OHASAE ErageolT} HIILHIZM
1,800,000 *15JH 2 27,000
OXEEM & CHEA S22 (SHIEH )
100,000,000 * 14! 100,000
O E XA
2,500,000 *8IH 2 20,000
OBAIE EXIALY 800, 000& *250H4 20,000
OHASAZ HXAY
13,500,000 *57H 2 67,500
Og2s nSotEHEXIE EXIALY
2,500, 000& *2004 50,000
OHASZY L DHSYH KA B4(E0!
Hiek) 60,000,000 14! 60,000
Ot AMS EXIA 37,500 *4000H 15,000
OALIE SEXx= EXIA
35,000,000 204 & 70,000
O e XA
26,500,000 *2IH 2~ 53,000
OALDIE HASZE XA
50,000,000 *2J4 & 100,000




FAN AZUSH
M JANSHEFA
el WSEEEYsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZTEC ORI=ZI| £X
4,972, 7273110 & 54,700
= 16,600
2 38,100
OHASYE EHHYBZBAL &5
1,333,3002 *90H A 12,000
< 3,600
[Ea 8,400
OuLSAIE= FHIAE
100,000,000 *14] 100,000
= 30,000
Ea 70,000
WEAL SEWSHEHE SHA) &5 340,000 250,000 90,000
Il 74,825
o 265,175
307 212+01& 340,000 250,000 90,000
7l 74,825
= 265,175
05 2ItRIE =2 340,000 250,000 90,000
OSEISHE 2(FHUBLAl 2|
X&) (2l =2t 151,861& &)
85,000,000 4= 7| 340,000
Jl 74,825
o 265,175
2gMd RIELSAH 912,000 912,000
307 @20l & 912,000 912,000
09 2FHHEXS 912,000 912,000
O2+gH(sHEHA, A, SI2XSIH)
mIINEXS 76,000,000 «12& 912,000
E0IE€2g %= 131,131 217,055 A\85,924
101 @124H| 27,211 113,135 A\85,924
M ORIMZZ2NSE S 27,211 113,135 A\B5,924
OSSHAHDIE 2B 8| 22Y 27,211
—Jl2= 51,4903 x2EH*132& 13,5%4
—uwSH| 2,0003x2& » 132! 528
—=4l 4,000& x2&x132 1,056
-5+ 51,4003 »2& »52& 5,355
—ReRdsE 51,4003 x2& » 12 1,236
—Axtg 55,2502 x2& » 12 1,3%6
—ZE3JHI 300,000 x2H*23] 1,200
—4HEE= 24,294,080 *12% 2,916
201 er23| 11,400 11,400
01 At2tltl 11,400 11,400




FA AELS
Hu: NNDSHYEX
el WSEEEYsd (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OZ3EHAHOIE & =57
50,0003 #1202 A 6,000
OZZLL tHel HOIEAE ED|IAas & &Y
=3 7Y 450,000& « 123 5,400
301 2 &= 32,400 32,400
14 J|Et2 a3 32,400 32,400
OZEHAHOIE HEr== K&
2,700,000& « 122 32,400
307 212t01d 60,120 60,120
QB 2=gHEXS 60,120 60,120
OHAHDIE =R 2I2H] XA
3,400,000« 122 40,800
OH01g ddeD| &8Iz X3
360,000 122 4,320
OHDIg OtExZ2t 238l XZ
1,250,000& « 128 15,000
ZABIS KR A 37,39% 27,89% 9,500
403 T HSTH=01A 37,39% 27,89% 9,500
02 S712S0 e H=E P E AL 37,39 27,89% 9,500
OHAZSAIAEIBIS)RXIE=
27,895,000 * 14! 27,89
OHAFHEAIAR(BIS) =F&HI WA
9,500,000 *1CH 9,500
SATAEB AR 2,913,733 2,793,733 120,000
= 336,000
S 286,057
T 2,291,676
307 212t01& 2,913,733 2,793,733 120,000
= 336,000
S 286,057
ia 2,291,676
09 2YHEXS 2,913,733 2,793,733 120,000
OZUHA 8IS 42483 (2H It 8
0,000& &) 100,000,000& 122 1,200,000
= 336,000
[ias 864,000
OsO0EHA HEXI (2H] It 331,6198 &)
903,733,000& 14! 903,733
= 286,057
[ia 617,676
OLI=A SEHA FAUXHA
120,000, 000 #50%+4LCH 240,000
OHAHURSH &42a=
44,500,000 123 534,000
OsSUHEBA &ts 424 XN
1,000&+30,000& 30,000




FAN AZUSH
Hu: NNDSHYEX
el WSEEEYsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS0EHA 23 =242 X
50&120,0002] 6,000
WSS 98,000 98,000
307 gl2to| & 98,000 98,000
B 2=gHEXS 98,000 98,000
ODEHA (Mo S )EAE2H 3
98,000,000 * 14! 98,000
WESAMI2E XS 15,000 15,000 0
307 elztol & 15,000 15,000
02 2B A HE L 15,000 15,000
OuSAR(Lo)se2a
10,000,000& » 14 10,000
OusS2td SAAL WsSHAX 25t
5,000,000& 14 5,000
dote #EEHA 2 1,814,100 1,626,400 187,700
[ 640,000
= 108,000
Ea 1,066,100
301 EtE NS 367,200 326,400 40,800
[ 100,000
s 267,200
14 0Bt 2as 367,200 326,400 40,800
Od===A &
3,400,000 ~9CH* 122 367,200
= 100,000
= 267,200
307 elzto| & 1,446,900 1,300,000 146,900
= 540,000
[ 108,000
T 798,900
09 2+A2LS 1,446,900 1,300,000 146,900
O#M=SHA X (24l FIt 366,908 &)
144,690,000 * 1074 & 1,446,900
= 540,000
[ 108,000
Ea 798,900
FIE AL 2 217,200 4,010,000 A3,792,800
201 er23| 7,200 0 7,200
01 At2teltl 7,200 0 7,200
OMEFLIE A=Y 22X AISE
10,0002 +6021x 122 7,200
401 AlZHIZ SO 210,000 4,010,000 3,800,000
01 AlZ28| 210,000 3,999,200 A3,789,200
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FAN AZUSH
M JANSHEFA
el WSEEEYsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOt ATKIZ =8l 22 (50)
95,0002 *5CH #2492 118,275
LB SHEHS ALY QHEIE XJAS 20,000 12,000 8,000
= 2,100
= 3,300
s 14,600
301 EtE N = 20,000 12,000 8,000
= 2,100
[ 3,300
T 14,600
14 JIEt2d=3 20,000 12,000 8,000
OngXlt 28HGIS MaEH QIHEIE X
22150t 2,008 %)
200,000 100 20,000
= 2,100
< 3,300
[Ea 14,600
BAN2EFE2CIAAE 2 520 520 0
403 AXIEHMSAH=0lH 520 0 520
02 SISt 2 S A A 520 0 520
OEASHEDHIALY 22 U SA LS
]l 520,000 *14] 520
EIASENE XML (HEAY) 17,084 18,586 1,502
s 8,542
s 8,542
401 AIEHIZ SR OHYI 17,084 18,586 1,502
[ 8,542
Ea 8,542
01 Al&HI 17,084 18,586 1,502
OHASZE BALER EX(HE)
2,847,3333 600 & 17,084
= 8,542
= 8,542
=X HE R (D EALY) 2,400,000 0 2,400,000
=S 1,200,000
s 1,200,000
401 AIEHIZ SR THYI 2,400,000 0 2,400,000
< 1,200,000
[Ea 1,200,000
01 Al&H| 2,391,360 0 2,391,360
Onletz2NA=IEAHE (M E)
2,400,000,0002 *99.64% 2,391,360
= 1,200,000
= 1,191,360




FAN AZUSH
Hu: NNDSHYEX
el WSEEEYsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Al 20HHI 8,640 0 8,640
OTt2NA=IHEHE (M E)
2,400,000,000& *0.36% 8,640
HH2LIH(ALnSH) 252,006 247,424 4,582
plE2EH(A4nsSn) 191,138 186,616 4,522
QA2 (AL nsSn) 191,138 186,616 4,522
101 @124H| 191,138 186,616 4,522
01 E= 177,206 172,288 4,917
OAItelx=& 168,625
—6= 12, 2137 +50A1 2+ 123 51,749
7= 11, 1302 «8E #50A[ 2+ 122 53,424
—8= 9,902 «6H+B0A 2+ 123 35,972
—92 9, 1602 x5 +B0A| 2+ 123 27,480
OX &bl 174,242,000 %1.7% 2,963
OMEXY g AIAZRSE 5,617
—6= 12,3213%2&+17 A 2H6E 2,095
72 11,1302 x2S *17 Al 2h+53 1,893
—8= 9,902« 1H*17 Al 2h+63 850
—93 9,160 x 1 +17 Al 253 779
03 SRA(RIH )22 U2+ 13,933 14,328 A3%5
OggAREXRR 7,113
—253(19) 3,771
AteI2esg
20,0642 x1H =154 2+ 123 3,610
LI 160,4282 x1&x1& 161
—105=(19) 3,342
AteI22g
17, TN 3* 18 *1BA1 2H 122 3,19
- 5E2RE 142, 164318 x1&d 143
OslggeExd 6,820
—-95=2(19) 6,820
A2t
18,5302 x 1 *30AI 2t 122 6.671
] 148,236 1+ 1 149
Jl23H(AHLnsn) 60,868 60,808 60
Jl2dH(H&nsn) 60,868 60,808 60
201 fer23| 47,028 47,028 0
01 AtR2t2|HI 47,028 47,028 0
OARIDI2(5H)
220,000 +58 « 128 13,200
O=gHI(EH) 8,000 *27 H+0L «12& 23,328
OUB2P=E(BY) 200,000 122 2,400
OJIEI2ZHI(ZNH) 8,100,000& 8,100




2A: Aduns
M BHLAAY|(ALDED)
Sl J|=AH|(ALDED) (B9 &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
202 0idl 6,000 6,000
01 =WHO4bI 6,000 6,000
O=UoHI(ZY) 300,000&x 1+ 122 3,600
OETAIZ(ZY) 2,400,000& 2,400
203 AR F&lY| 7,840 7,780 60
03 Al FAIH R FAIH| 2,500 2,500 0
OAIMFE HSFXIH| 2,500,000& 2,500
M A2IHRFALI 5,340 5,280 60
ORN2Z RFA| 445,000 128 5,340




